Unit To	otal To	otal
_		

Minimum Order is \$700 or \$100 shipping ch	arge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
Herbs & Veggies							
6" Herb - Crisp Rosemary		flat	6	\$4.00	\$24.00	0	\$0.00
4" Basic Annuals							
4" Pansy - Assorted		flat	10	\$1.65	\$16.50	0	\$0.00
4" Pansy - Blue Blotch		flat	10	\$1.65	\$16.50	0	\$0.00
4" Pansy - Clear Purple		flat	10	\$1.65	\$16.50	0	\$0.00
4" Pansy - Red Blotch		flat	10	\$1.65	\$16.50	0	\$0.00
4" Pansy - White Blotch		flat	10	\$1.65	\$16.50	0	\$0.00
4" Pansy - Yellow Blotch		flat	10	\$1.65	\$16.50	0	\$0.00
Premium Gallon Items							
Premium Gallon Thornless Blackberry		flat	6	\$5.40	\$32.40	0	\$0.00
Perennials Assorted							
5.5" Perennials Carex Colorgrass Red Rooste	er	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Carex Evercolor Eversheen		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Coreopsis Hardy Jewel Citrir	ne	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Cymbopogon Citratus Lemo	ngrass	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Dennstaedtia punctilobula -	Hay Scented Fern	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Echinacea Sunseekers Orang	ge	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Gaura White		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Grass Festuca Festina		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Grass Juncus Spiralis		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Heuchera Bilberry		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Heuchera Palace Purple		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Hosta		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Japanese Painted Fern		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Juncus Colorgrass Blue Arrov	ws	flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Milium effesum		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Rudbeckia Viette		flat	8	\$2.50	\$20.00	0	\$0.00
5.5" Perennials Sedum Munstead Dark Red		flat	8	\$2.50	\$20.00	0	\$0.00
6.5" Perennial Pennisetum Rubrum		flat	6	\$5.40	\$32.40	0	\$0.00
6.5" Perennial Shrubs and Trees - Boxwood	(JRT Nurseries Inc)	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Euonymus	3	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Juniper Dr	eam Joy	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Picea Glau	ıca Conica	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Thuja Jane	ed Gold	flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Thuja occi	dentalis Smaragd	flat	6	\$9.25	\$55.50	0	\$0.00

Van Wingerden Greenhouses Availability	Week 33		Contact N	ame:			
	FAX: 360-366-391	1	Customer	:			
	PHONE: 360-366-3	3906	Requested	d Ship Day:			
Minimum Order is \$700 or \$100 shipping ch	arge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
6.5" Perennial Shrubs and Trees - Wilma Cyp	oress	flat	6	\$9.25	\$55.50	0	\$0.00
Gallon Perennial Crocosmia		flat	6	\$5.40	\$32.40	0	\$0.00
Gallon Perennial Crocosmia - George Daviso	n	flat	6	\$5.40	\$32.40	0	\$0.00
Gallon Perennial Crocosmia - Lucifer		flat	6	\$5.40	\$32.40	0	\$0.00
6.5 Premium Annual							
6.5" Premium Annual Lantana Assorted		flat	6	\$3.00	\$18.00	0	\$0.00
Cacti and Succulents in Ceramics (Concre	ete pots also availa	ble) - Ind	loor & Out	door			
2.5" Cactus - Assorted in Ceramic		flat	24	\$4.00	\$96.00	0	\$0.00
8" Ceramic Cactus Bowl		single	1	\$19.50	\$19.50	0	\$0.00
8" Ceramic Succulent Bowl		single	1	\$19.50	\$19.50	0	\$0.00
Hanging Baskets & Planters							
10" Mandevilla Vine Planter		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - Fuchsia		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - Pink		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - Red		single	1	\$7.00	\$7.00	0	\$0.00
10" Mandevilla Vine Planter - White		single	1	\$7.00	\$7.00	0	\$0.00
12" Begonia Canary Wings Hanging Basket		single	1	\$12.00	\$12.00	0	\$0.00
12" Calliope Geranium Basket - Cascade Vio	let	single	1	\$12.00	\$12.00	0	\$0.00
12" Dragon Wing Begonia HB - Green Leaf		single	1	\$12.00	\$12.00	0	\$0.00
Cacti and Succulents							
10" Succulent Bowl		single	1	\$17.00	\$17.00	0	\$0.00
2.5" Cactus - Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Cactus Assorted 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Succulent - Crassula Ovata		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Succulent - Gasteraloe Cosmo		flat	32	\$2.95	\$94.40	0	\$0.00
4" Succulent Crassula Ovata - Jade Plant		flat	10	\$3.30	\$33.00	0	\$0.00
6.5" Succulent - Echeveria Coral Reef		flat	6	\$5.75	\$34.50	0	\$0.00
6.5" Succulent Crassula Ovata		flat	6	\$5.75	\$34.50	0	\$0.00
6" Cuddly Cactus		flat	6	\$10.00	\$60.00	0	\$0.00
Large Tropicals							
12" Tropical Anthurium		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Assorted		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Lemon Lime		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Marginata		single	1	\$22.10	\$22.10	0	\$0.00

Van Wingerden Greenhouses Availability	Week 33		Contact Name:				
	FAX: 360-366-391	FAX: 360-366-3911		:			
	PHONE: 360-366-3	3906	Requested	d Ship Day:			
Minimum Order is \$700 or \$100 shipping cha	arge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
12" Tropical Dracaena Warneckii		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Elastica Burgundy		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Triangularis Variegated		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Majesty Palm - Ravenea rivulari:	S	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Mixed Planter		single	1	\$30.00	\$30.00	0	\$0.00
12" Tropical Strelitzia White Bird of Paradise		single	1	\$22.10	\$22.10	0	\$0.00
8" Spathiphyllum Indoor		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Assorted		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Ficus elastica Burgundy		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Pachira - Money Tree Braided		single	1	\$16.50	\$16.50	0	\$0.00
Tropical Ferns - Indoor							
12" Boston Fern Hanging Basket		single	1	\$16.00	\$16.00	0	\$0.00
2.5" Tropical Fern Assortment		flat	32	\$2.50	\$80.00	0	\$0.00
4" Tropical Fern - Asparagus		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Autumn		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Blue Star		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Button		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - East Indian Holly Fern		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Eyelash		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Heart		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Maidenhair		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Rabbits Foot		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Sickle		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Staghorn		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Tricolor		flat	10	\$3.30	\$33.00	0	\$0.00
6.5" Tropical Fern - Asparagus		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Boston		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Cretan Brake		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Maidenhair		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Pteris Parkeri		flat	6	\$6.00	\$36.00	0	\$0.00
8" Boston Fern Hanging Basket		single	1	\$10.15	\$10.15	0	\$0.00

\$5.50

\$15.00

10

1

flat

single

\$55.00

\$15.00

0

0

\$0.00

\$0.00

Tropicals - Collectors

4" Tropical Assorted Hanging Basket

8" Tropical Spider Plant Hanging Basket

Van Wingerden Greenhouses Availability	Week 33	Contact Name:	
	FAX: 360-366-3911	Customer:	

PHONE: 360-366-3906 Requested Ship Day:

Minimum Order is \$700 or \$100 shipping charge

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
2.5" Tropical Philodendron Quad Color		single	1	\$7.50	\$7.50	0	\$0.00
2.5" Tropical Philodendron Ring of Fire		single	1	\$7.50	\$7.50	0	\$0.00
4" Tropical Anthurium Jenmanii		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Ficus Shivereana Moonshine		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Golden Zebra Fern		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Homalomena Camouflage		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Atabapoense		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Billietiae		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Pink Princess		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Quad Color		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Ring of Fire		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Syngonium Milk Confetti		single	1	\$10.00	\$10.00	0	\$0.00
6.5" Tropical Anthurium Jenmanii		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Olea Europaea Olive Tree		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron Atabapoense		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron Ring of Fire		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron White Wizard		single	1	\$15.00	\$15.00	0	\$0.00
8" Tropical Collector Olea europaea Olive Tree	<u>e</u>	single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Philodendron Ring of Fire	<u>e</u>	single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Zamioculcus Zamifolia ZZ	Z Plant	single	1	\$25.00	\$25.00	0	\$0.00
Tropicals - Premium							
2.5" Tropical Assortment 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Tropical Foliage Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
4" Tropical Aglaonema China Red		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Aglaonema Gold Powder		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Aglaonema Siam Aurora		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Alocasia Dragon Scale		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Freddie		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Lancifolia		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Orbifolia		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Roseopicta Illustris		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Vittata		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Coffea Arabica		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ctenanthe Golden Mosaic		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Dieffenbachia Green Magic		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus lyrata - Bambino		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Monstera adansonii Swiss Cheese		flat	10	\$4.30	\$43.00	0	\$0.00

Van V	Vingerde	n Green	houses	Availability
-------	-----------------	---------	--------	--------------

Week 33

Contact Name: Customer:

PHONE: 360-366-3906

FAX: 360-366-3911

Requested Ship Day:

Minimum Order is \$700 or \$100 shipping charge

Product Name	Order Quantity	Unit	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Tropical Peperomia Santorini		Type flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Birkin		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Gloriosum		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Pilea Glauca Silver Sparkle		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Hahnii		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Robusta		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Spathiphyllum Sensation Variegata		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Spathiphyllum-Peace Lily		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Syngonium Starlite		flat	10	\$4.30	\$43.00	0	\$0.00
6.5" Anthurium Indoor Red		flat	6	\$9.30	\$55.80	0	\$0.00
6.5" Tropical Alocasia Sarian		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Alocasia Watsoniana		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Assortment		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Golden Mos	aic	flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Setosa		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Freddie		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Maui Queen		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Orbifolia		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Roseopicta Medallion		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Rufibarba		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Eucalyptus		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Audrey		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Elastica Burgundy		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus lyrata - Bambino		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Monstera Deliciosa Tauerii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Musa Dwarf Banana Plant		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Gloriosum		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Goeldii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Hope		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Imperial Green		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Imperial Red		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Prince of Orange		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Rudolph		flat	6	\$7.00	\$42.00	0	\$0.00
Tropicals - Rare							
12" Tropical Monstera Thai Constellation		single	1	\$60.00	\$60.00	0	\$0.00
12" Tropical Zamioculcus Zamifolia ZZ Plant		single	1	\$60.00	\$60.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 33 FAX: 360-366-3911 PHONE: 360-366-3906		Contact Name: Customer:				
			Requested	d Ship Day:			
Minimum Order is \$700 or \$100 shipping charg	ge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
2.5" Tropical Monstera Deliciosa Thai Constella	ation	single	1	\$20.00	\$20.00	0	\$0.00
4" Tropical Alocasia Frydek Variegated		single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Monstera Thai Constellation		single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Philodendron Burle Marx Variegata		single	1	\$30.00	\$30.00	0	\$0.00
6.5" Tropical Monstera Thai Constellation		single	1	\$40.00	\$40.00	0	\$0.00
6.5" Tropical Philodendron Burle Marx Variega	ta	single	1	\$40.00	\$40.00	0	\$0.00

2.5" Tropical in Ceramic

4" Tropical - Assorted in Ceramic

4" Tropical Assorted in Rope Pot

6.5" Anthurium Indoor w/Ceramic

6.5" Tropical Assorted in Ceramic

6.5" Tropical Assorted in Tin

8" Centerpiece Bowl - Tropical

Tropical Basket Centerpiece

4" Tropical - Assorted in Ceramic with Pot Stand

6.5" Tropical Foliage in Ceramic with Pot Stand

flat

flat

flat

case

flat

single

single

flat

single

single

24

12

8

12

3

1

1

3

1

1

\$3.45

\$6.30

\$8.30

\$6.30

\$12.90

\$10.50

\$10.50

\$13.00

\$19.50

\$18.00

\$82.80

\$75.60

\$66.40

\$75.60

\$38.70

\$10.50

\$10.50

\$39.00

\$19.50

\$18.00

0

0

0

0

0

0

0

0

0

0

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00